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Quiz I
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. f(xi4,7)= x + xyz + y3z
Vf = (2x + yz , xz +3y2z , xy + y3)

8 + (2 , 1 . 3) = <7 ,173)

R
.

Duf (2 ,
1
.
3) =

Of (1 .2 ,3) · [2,
[2 . 15 , 3):2:

120+=
3. Direction ofmaxecrease

= -

FILT+ 9
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. f(x , 7 , z) = 13 at P= (2,1 ,3)
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T(y-2) + 15(y-1) + 3(z - 3) = 0

7x + 15 y +37 = 38
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519 . 1 - 14 .2

: (fdy = Signedarea

#
sum

EC : ( f()dy = F(b) -F(a)
=F
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where F'(x) = f(x)



Similar z = f(x
, y)

& cream inmy plane
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Den the volume of rectangle
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(d) z = y , same
R

(da = o

times
cance

How to compute Jeffu)dA
When R/f more complicated ?

Awar ! Stratestrals

E((x++3)dx = Ex + xy +((y)
D ↑ function/

of y



S(y+y3)dy = xy + +y + ((x)

functionof y
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Erini'sTheorem :

If end parts for J)f(y)dA
correspond to a region M ,

Ran Iterated integral

Ih) f(x , u) bA
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Jox-4x3 dx =

8x - x" (2 = 3) - 16 = 16

F j getby dady
O O

02 y 1Y
0x = Ey

x= Y$



xidxda
x
=E

xy)y =
0

= ty3- o

%ty d=y =

j .

"=
Rak : J1dA =

Area of

xdy +1
↳



:
26 . 6 + =6 . 6 =

18718 = 36

Note Other order integration
is better !

:



Pylydx =

(G(*(4)dx =

(2xdx = x2= 36


